BID TABULATION & NOTICE OF INTENT TO AWARD



Signalization of SW/NW 46th Avenue at SR 40 ITB01292500000014 Bid Name:

ProRFx ID: ITB01292500000 Solicitation: ITB# CIP/250303 Bids: 1 Buyer: Eileen Marquez Buyer Email:

Buyer Phone: 352-629-8362

Bidder Name	Office Location	Total Bid Amount
C.W. ROBERTS CONTRACTING, INC.	Wildwood, FL	\$1,930,930.00

	SUMMARY OF SIGNALIZATION				
ITEM#	DESCRIPTION	UOM	EST QTY	UNIT COST	EXTENDED COST
101-1	MOBILIZATION AND SPECIAL PROVISIONS	LS	1	\$91,354.00	\$91,354.0
102-1	MAINTENANCE OF TRAFFIC	LS	1	\$80,192.00	\$80,192.0
N/A	AS-BUILT PLANS AND CONSTRUCTION LAYOUT SURVEY	LS	1	\$32,022.81	\$32,022.8
520-1-10	CONCRETE CURB & GUTTER, TYPE F	LF	161	\$73.50	\$11,833.5
522-2	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK (FOR CURB RAMPS AND SIDEWALK RECONSTRUCTION)	SY	155	\$130.00	\$20,127.3
527-2	DETECTABLE WARNINGS	SF	69	\$42.55	\$2,935.9
611-1-1	ITSFM SUBSURFACE DOCUMENTATION- PROJECT LENGTH	MI	0.179	\$1,900.00	\$340.7
611-2-1	ITSFM LOCATION DOCUMENTATION- INTERSECTION	EA	1	\$2,100.00	\$2,100.0
630-2-11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	LF	1525	\$20.00	\$30,500.0
630-2-12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF	210	\$55.00	\$11,550.0
632-7-1	SIGNAL CABLE- NEW OR RECONSTRUCTED INTERSECTION, FURNISH & INSTALL	PI	1	\$19,000.00	\$19,000.
633-3-11	FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE ENCLOSURE	EA	1	\$1,500.00	\$1,500.
633-3-16	FIBER OPTIC CONNECTION HARDWARE, F&I, PATCH PANEL- FIELD TERMINATED	EA	2	\$1,210.00	\$2,420.
633-6	FIBER OPTIC CABLE LOCATOR	LS	1	\$50,000.00	\$50,000.
634-4-153	SPAN WIRE ASSEMBLY, F&I, TWO POINT, BOX SPAN	PI	1	\$13,960.00	\$13,960.
635-2-11	PULL & SPLICE BOX; FURNISH & INSTALL; 13"x24"	EA	40	\$1,530.00	\$61,200.
639-1-122	ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR FROM POWER COMPANY	AS	1	\$6,451.00	\$6,451.
639-2-1	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	LF	70	\$10.00	\$700.
639-3-11	ELECTRICAL SERVICE DISCONNECT, F&I, POLE MOUNT	EA	1	\$2,263.00	\$2,263.
641-2-11	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II PEDESTAL	EA	8	\$3,276.00	\$26,208.
641-2-12	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	EA	1	\$3,174.00	\$3,174.
641-2-30	PRESTRESSED CONCRETE POLE, INSTALL	EA	4	\$29,368.00	\$117,472.
650-1-24	VEHICULAR TRAFFIC SIGNAL, F&I , POLYCARBONATE W/ALUM TOP, 3 SECTION, 1 WAY	AS	8	\$2,206.00	\$17,648.
650-1-26	VEHICULAR TRAFFIC SIGNAL, F&I POLYCARBONATE W/ALUM TOP, 4 SECTION, 1 WAY	AS	4	\$2,745.00	\$10,980
653-1-11	PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	AS	8	\$1,192.00	\$9,536
660-1-109	LOOP DETECTOR INDUCTIVE, F&I, TYPE 9	EA	13	\$552.00	\$7,176.
660-1-110	LOOP DETECTOR INDUCTIVE, F&I, TYPE 10	EA	1	\$552.00	\$552.
660-2-102	LOOP ASSEMBLY, F&I, TYPE B	AS	17	\$1,770.00	\$30,090
660-2-106	LOOP ASSEMBLY, F&I, TYPE F	AS	13	\$1,467.00	\$19,071
660-6-121	VEHICLE DETECTION SYSTEM- AVI, BLUETOOTH, FURNISH & INSTALL, CABINET EQUIPMENT	EA	1	\$3,000.00	\$3,000
660-6-122	VEHICLE DETECTION SYSTEM- AVI, BLUETOOTH, FURNISH & INSTALL, ABOVE GROUND EQUIPMENT	EA	1	\$15,709.00	\$15,709

Signalization of SW/NW 46th Avenue at SR 40

Bid Name: Signalization of ProRFx ID: ITB012925000000 Solicitation: ITB# CIP/250303 Bids: 1 ITB01292500000014 Buyer: Eileen Marquez Buyer Email:

Buyer Phone: 352-629-8362

000 0 11	TRAFFIC DATA DETECTION SYSTEM- VIDEO, FURNISH AND	F.4		\$44,650.00	\$44,650.0
660-9-11	INSTALL, CABINET EQUIPMENT TRAFFIC DATA DETECTION SYSTEM- VIDEO, FURNISH AND	EA	1	. ,	
660-9-12	INSTALL, ABOVE GROUND EQUIPMENT	EA	2	\$13,388.00	\$26,776.0
665-1-11	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	EA	8	\$364.00	\$2,912.0
670-5-300	TRAFFIC CONTROLLER ASSEMBLY, INSTALL	AS	1	\$7,817.00	\$7,817.0
682-1-113	ITS CCTV CAMERA, F&I, DOME PTZ ENCLOSURE - PRESSURIZED, IP, HIGH DEFINITION	EA	1	\$8,615.00	\$8,615.0
684-1-1	MANAGED FIELD ETHERNET SWITCH, FURNISH & INSTALL	EA	1	\$4,705.00	\$4,705.0
684-1-10	MANAGED FIELD ETHERNET SWITCH, LAYER 3, FURNISH & INSTALL	EA	1	\$16,500.00	\$16,500.0
685-1-11	UNINTERRUPTIBLE POWER SUPPLY, FURNISH AND INSTALL, LINE INTERACTIVE	EA	1	\$13,500.00	\$13,500.0
685-2-1	REMOTE POWER MANAGEMENT UNIT- RPMU, FURNISH AND		1	\$2,372.00	\$2,372.0
700-1-600	INSTALL SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	EA EA	2	\$125.00	\$250.0
700-1-000	MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND	LA	2		
700-2-114	MOUNT, 30.1-50.0 SF	AS	2	\$11,815.00	\$23,630.0
700-3-201	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF	EA	4	\$976.00	\$3,904.0
700-5-21	INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF	EA	2	\$8,100.00	\$16,200.0
700-5-22	INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL, OVERHEAD MOUNT, 12-18 SF	EA	2	\$9,100.00	\$18,200.0
706-1-3	RAISED PAVEMENT MARKER, TYPE B	EA	79	\$6.10	\$481.9
710-90	PAINTED PAVEMENT MARKINGS - FINAL SURFACE	LS	1	\$6,100.00	\$6,100.0
711-11-123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK	LF	586	\$4.90	\$2,871.4
711-11-125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE	LF	137	\$7.30	\$1,000.1
711-11-141	THERMOPLASTIC, STANDARD, WHITE, 6-10 GAP EXTENSION, 6"	GM	0.020	\$2,418.00	\$48.0
711-11-160	THERMOPLASTIC, STANDARD, WHITE, BICYCLIST SYMBOL	EA	2	\$638.00	\$1,276.0
711-11-170	THERMOPLASTIC, STANDARD, WHITE, ARROW	EA	10	\$103.30	\$1,033.0
711-11-224	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18" FOR DIAGONAL	LF	87	\$6.10	\$531.6
711-14-125	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	LF	467	\$18.25	\$8,522.7
711-16-101	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	GM	0.148	\$7,600.00	\$1,122.5
	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	GM			\$2,405.7
711-16-201	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC		0.302	\$7,964.00	\$5,164.0
711-17-1	PAVEMENT MARKINGS- SURFACE TO REMAIN	LS	1	\$5,164.00	
	SIGNA SIGNA	LIZATION	SUBTOTAL		\$921,654.6
630-2-11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	LF	301	\$21.60	\$6,501.6
630-2-11	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF	100		\$3,150.0
635-2-12	PULL & SPLICE BOX; FURNISH & INSTALL; 24"x36"	EA		\$31.50 \$4,113.00	
635-2-12	PULL & SPLICE BOX; FURNISH & INSTALL; 24 x36 PULL & SPLICE BOX, F&I, 36" ROUND COVER SIZE	EA	3	\$4,113.00	\$12,339.0 \$8,439.0
300 Z-10	INTERCONNECT SUBTOTAL			ψυ,Ψυσ.υυ	\$30,429.6
	SUMMARY OF LIGHTING				+ + + + + + + + + + + + + + + + + + +
630-2-11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	LF	275	\$19.15	\$5,266.2
630-2-12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF	365	\$31.50	\$11,497.5
635-2-11	PULL & SPLICE BOX; FURNISH & INSTALL; 13"x24"	EA	13	\$2,700.00	\$35,100.0
639-2-1	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	LF	10	\$11.00	\$110.0
639-3-12	ELECTRICAL SERVICE DISCONNECT, F&I, CABINET	EA	1	\$2,264.00	\$2,264.0
	LIGHTING CONDUCTORS FOR INCHES		1	\$3.50	
715-1-12	LIGHTING CONDUCTORS, F&I, INSULATED, NO.8 - 6	LF	2,712	\$3.50	\$9,492.0

Signalization of SW/NW 46th Avenue at SR 40

Bid Name: Signalization of ProRFx ID: ITB012925000000 Solicitation: ITB# CIP/250303 Bids: 1 ITB01292500000014 Buyer: Eileen Marquez Buyer Email:

Buyer Phone: 352-629-8362

715-61-321	LIGHT POLE COMPLETE, F&I, STANDARD POLE STANDARD-FOUNDATION, 40' MOUNTING HEIGHT, 10' ARM LENGTH	EA	6	\$10,005.00	\$60,030.00
715-65-266	LIGHT POLE COMPLETE, F&I, UTILITY CONFLICT POLE- STANDARD FOUNDATION, 35' MOUNTING HEIGHT, 16'- ARM LENGTH	EA	4	\$11,210.00	\$ 11,210.00
715-500-1	POLE CABLE DISTRIBUTION SYSTEM, FURNISH AND INSTALL, CONVENTIONAL	EA	7	\$1,500.00	\$10,500.00
	L	GHTING:	SUBTOTAL		\$171,869.75

Signalization of SW/NW 46th Avenue at SR 40

Bid Name: Signalization of ProRFx ID: ITB012925000000 Solicitation: ITB# CIP/250303 Bids: 1 Buyer: Eileen Marquez Buyer Email: ITB01292500000014

Buyer Phone: 352-629-8362

Pavement	Expasion				
	SUMMARY OF ROADWAY				
ITEM#	DESCRIPTION	иом	EST QTY	UNIT COST	EXTENDED COST
G-01	Mobilization	LS	1	\$94,000.00	\$94,000.00
G-03	Project Sign	EA	2	\$646.67	\$1,293.34
G-05	Maintenance of Traffic	LS	1	\$150,000.00	\$150,000.00
G-06	Silt Fence & Sediment Control	LF	122	\$2.10	\$256.20
FDOT-104-18	Inlet Protection System	EA	6	\$100.00	\$600.00
G-09	Clearing and Grubbing - Light	SY	2,103.00	\$5.00	\$10,515.00
G-11	General Excavation	CY	1,043.15	\$30.00	\$31,294.50
G-15	Grading (Finish)	SY	782.97	\$6.00	\$4,697.82
G-17	Remove & Replace Unsuitable Material	CY	260.79	\$22.50	\$5,867.72
G-18	Stabilized subgrade & Sub-base	SY	2,423.83	\$18.00	\$43,628.94
G-19	Limerock 10" Base	SY	2,055.16	\$34.50	\$70,903.02
G-21	Removal of Existing Concrete Sidewalks and Driveways	SY	102.00	\$87.00	\$8,874.00
G-22	Removal of Existing Concrete Curb & Gutter	LF	185.50	\$25.60	\$4,748.80
G-27	Mill Existing Asphalt Pavement at 1.5" Depth	SY	2,623.82	\$5.50	\$14,430.99
G-32-1	SP 9.5 Asphalt Superpave	TN	329.49	\$200.00	\$65,898.98
G-32-2	SP 12.5 Asphalt Superpave	TN	339.10	\$200.00	\$67,820.00
G-52	Construction Survey	LS	1	\$15,000.00	\$15,000.00
G-53	As-Built Drawings: Survey, Roadway, & Utilities	LS	1	\$8,048.79	\$8,048.79
G-56-E-2	Concrete Curb and Gutter, Type E	LF	588	\$47.00	\$27,636.00
G-80	Sod, Bahia	SY	522.00	\$4.00	\$2,088.00
FDOT-520- 5-		LF	284	\$99.50	\$28,208.25
42	6' Type IV Concrete Traffic Separator			ψ99.00	Ψ20,200.23
	RO		\$655,810.35		
	SUMMARY OF POTABLE WATER				
W-1	12" PVC WATER MAIN	LF	51	\$350.00	\$17,850.00
W-03	DIP MJ FITTINGS 12"	EA	4	\$1,300.00	\$5,200.00
W-05-2-12	12" BUTTERFLY VALVE & VALVE BOX	-EA-	2	\$0.00	\$0.00
W-16	12" TAP ON EXISTING 12" WATER MAIN W/VALVE & SST STEM	EA	1	\$40,000.00	\$40,000.00
W-18	DIRECTIONAL BORE 12"	LF	216	\$300.00	\$64,800.00
		WATER	SUBTOTAL		\$127,850.00
	SUMMARY OF TRAFFIC CONTROL			•	
G-34-1	Object Marker, Type 1	EA	1	\$308.46	\$308.46
G-89-111	Single Post Sign, F & I, Less than 12 Sq. ft.	AS	8	\$637.00	\$5,096.00
G-91	Raised Retro-Reflective Pavement Marker w/ Adhesive	EA	108	\$6.10	\$658.80
G-93-121	Temporary Traffic Stripes and Markings, Standard, White, Solid, 6" Stripe	LF	1,765	\$0.61	\$1,076.65
G-93-131	Temporary Solid 6" Skip Stripe 10' x 30' White (Gross)	LF	290	\$0.36	\$104.40
G-93-141	Temporary Solid 6" Skip Stripe 2' x 4' White (Gross)	LF	150	\$0.36	\$54.00
G-93-221	Temporary Traffic Stripes and Markings, Standard, Yellow, Solid, 6" Stripe	LF	1,320	\$0.61	\$805.20
G-93-224	Temporary Traffic Stripes and Markings, Standard, Yellow, Solid, 18" Stripe	LF	138	\$3.05	\$419.38
G-93-4	Temporary Traffic Stripes and Markings, Standard, White, Solid, 24" Stripe	LF	117	\$3.65	\$427.05
G-93-6	Temporary Traffic Stripes and Markings, Standard, White, Solid, 12" Stripe	LF	167	\$1.82	\$303.03
G-94-1-121	Thermoplastic Traffic Stripes and Markings, Standard, White, Solid, 6" Stripe	LF	1,765	\$1.52	\$2,682.80
G-94-1-131	ThermoPlastic Solid 6" Skip Stripe 10' x 30' White (Gross)	LF	290	\$0.61	\$176.90
G-94-1-141	ThermoPlastic Solid 6" Skip Stripe 2' x 4' White (Gross)	LF	150	\$0.61	\$91.50
G-94-1-221	Thermoplastic Traffic Stripes and Markings, Standard, Yellow, Solid, 6" Stripe	LF	1,320	\$1.52	\$2,006.40
	Thermoplastic Traffic Stripes and Markings, Standard, Yellow, Solid,	LF	138	\$6.08	\$836.00
G-94-1-224	18" Stripe				
G-94-1-224 G-94-4	18" Stripe Thermoplastic Traffic Stripes and Markings, Standard, White, Solid, 12" Stripe	LF	167	\$5.00	\$832.50
		LF LF	167 117	\$5.00 \$7.30	\$832.50 \$854.10

Bid Name: Signalization of ProRFx ID: ITB01292500000 Solicitation: ITB# CIP/250303 Bids: 1 Signalization of SW/NW 46th Avenue at SR 40 ITB01292500000014 Buyer: Eileen Marquez Buyer Email: Buyer Phone: 352-629-8362

					,
G-95-17	Thermoplastic Pavement Arrow	EA	9	\$104.00	\$936.00
G-96-16	Temporary Pavement Message	EW	2	\$61.00	\$122.00
G-96-17	Temporary Pavement Arrow	EA	9	\$43.00	\$387.00
G-105	Remove Stripe/Pavement/Message (Grind or Waterblast)	SF	906	\$5.00	\$4,529.50
	TRACEIC		¢00 04E C7		

\$23,315.67

TOTAL BID AMOUNT \$1,930,930.00

חופ	A 1	TED	A I A	TFS

ITEM#	DESCRIPTION	UOM	EST QTY	UNIT COST	EXTENDED COST
715-67-000	POLES - SHALL INCLUDE ALL LABOR AND EQUIPMENT TO INSTALL LIGHT POLES TO BE FURNISHED BY THE CITY OF OCALA. INSTALLATION OF STANDARD FOUNDATION PER FDOT STANDARDS AND TRANSPORT BY THE CONTRACTOR OF THE FURNISHED POLES TO THE CONSTRUCTION SITE SHALL BE INCLUDED.	EA	7	\$5,400.00	\$37,800.00
	BID ALTERNATES SUB-TOTAL				\$37,800.00
			\$1,968,730.00		